N = 0l & AF & F Al A

20108 =& 1 3 LESH ASARA ~ ASAIRA

e

FA ASAIR A

HH: NSAPASH(UUISHH/LUHH)

Cel: NSARARY (&te @2
2N -3 - c2(3H) - NEME - HES Ol AFoH pjEsifon Hl =2
MNEAMBA 161,990 170,615 A8,625
NEARASH(LEHBIHE/ULEY) 145,073 155, 165 A 10,092
NEANRA2Y 145,073 155, 165 A~ 10,092

NEARA 29 145,073 155, 165 A 10,092
201 LEr2HH| 105,227 113,985 A8,758

01 At22t2IH] 60,822 67,580 AB,758

O1. Yet==H|(B2) -21,800,000=! *10/100 A2,180 0 A2,180

O5. 2 2| 3,402 3,780 A378

—NEARA UREX S2X SA(ED)

A 3,402,000 3,402 3,780 A378

O6.UXB(EZ) -42,000,0002 *10/100 A4,200 0 A4,200

03 #AIR2ZH| 18,000 20,000 A2,000
OMIZZRY 20l Y3TE WE(EZ)

Z3A 18,000,000 18,000 20,000 22,000

202 04 12,996 13,680 684

01 2oy 12,996 13,680 A 684

OZU0HI(EZ) -13,680,0002 *5/100 684 0 684

203 2= 26,400 27,000 2600

03 AMBM=RASFZH| 26,400 27,000 2600

OABER HRFTH|(HL)

ZA 11,400,000 11,400 12,000 A 600

405 KHAHE S 450 500 A50

01 ML ESEFSH| 450 500 A50

ouldidord R (E2) A 450,000 450 500 A50

HHSHAAH|(MSAMEA)(IJIEH/DIE 16,917 15,450 1,467

Ol A (M SAIRA) 1,140 1,200 B0

SHE2AY| 1,140 1,200 AB0
203 2= 1,140 1,200 AB0
04 BA2IALE=XIH| 1,140 1,200 260

ORNSLALEXHI(FA:5%)(2Y)
Z3A 1,140,000 1,140 1,200 B0
JI2HH(MSAIRA) 15,777 14,250 1,527

AR =X 04| 10,032 7,920 2,112
202 04 10,032 7,920 2,112
01 2oy 10,032 7,920 2,112

OZLALZ=TNH|(3Y—4H)
Z3A 10,032,000 10,032 7,920 2,112

BA29H| 5,745 6,330 A585
201 L2 HH| 5,745 6,330 585




FA ASAIR A
HH: HH2AAH(MSARA)(JIEHDIIE)
Eel: JI2ZHI(MSAMRL)

SNBSS - MBAY - BES 01l &4 24 p/E-T" {imE=Eh
01 AtSR22/Hl 5,265 5,850 A585
O1.der+=EHI(E) -4,850,000& *10/100 A485 0 N485
Ob.= &l 900 1,000 A 100
-EN2Y SEHI(EY) Z& 900,000& 900 1,000 A 100




